M2C3 — Marshmallows for
Camping Task

Annotated Teacher and Student Work

The following provides two teacher solutions and one Grade 4 solution to
the Marshmallows for Camping Task.
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Teacher
Solutions

Teachers used whole
number addition,
subtraction and
multiplication to
determine the number of
bags of marshmallows
needed and how many
would be left over.
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Teacher
Solutions

Teachers assumed
that each person on
the camping trip
would be given 2
marshmallows and
there were 40
marshmallows per
bag.

They used whole
number addition
and multiplication
to determine the
number of bags
needed.
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Grade 4
Warm-up



Grade 4 — Students used whole number
addition and subtraction to determine then
number of students and adults who will given
marshmallows, the number of bags of
marshmallows needed and the number of
marshmallows left over. They do not fully
explain the number of bags needed.




